000 GeV pp
S I L A L R B

<,:‘)0.14
AC VS yttbar (ttevents, parton level information)

0.12
m CMS

—4— Pythia 8.301 default

0.1
----- ¢ Sherpa 2.2.5 default

0.08

Rivet 3.1.10, = 100k events

0.06

0.04

0.02

—-0.02

—-0.04

mcplots.cern.ch [arXiv:1306.3436]

—0.06

IIII|IIII|IIII____|III|III|III|III|III|III|III|III|II|||||_|_OO

|||||||||||||T“_||||||||||||||||||||||||||||||||||||||||ﬁ‘_=’r'

Ratio to CMS
[N
|_\

0.5 - —0.5

T T T T P T T R T R T T T T
0 0.5 1 1.5
leftly {t}right|

tbar



	Contents
	Page 1


